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1. log, log, Ty/747 &1 WH, Fews s § 2
[a] Elugz?
il 1—3]1:527
el 1-3log, 2
@y L
8
2. afz ol w&e ke Bl @ wem 9« afn
qmes 52, A EEm d e sm e & e
() X==10
(b} =1l<x=0
icl L I
fd} x=>10
3. TroafeiEs =l e $imn
. '.la:+:|n;;""'—l
X
2, ‘{uﬂ+_h-_,‘_,x_¢1-_ﬂ__‘:-,',
X x
3. % _ Bx 2 ah
2
4, - oo
x? _gx+ bt
a2
5 e T B
” X x+B
ITU H H A gftE s g o
{a) “Hael 1,4 05
by  HEA 14, a3 s
) WaE 2 4305
(d) e 132
YPL-S-BLU

h.

(2-A)

U o TSR AR EEE w5 o 2 oA

fay A=A

(b} A=A

ey A=A"

(d) A=A

TR A', AT OHEE £ |

R A B CoF medE agem F Iweres
#, 71 Fraforfiam & 8 shhm v @ & 0

la) AUBMNC=ALB N{AUC)
thi A"UAUBI=B NnA UA
e} A'UBUC=CNBYNA
idd ANBUC=AU N

HE A A® =R

HE ST 2o09 31 S001 F d9 0 99 99 5
quiiet &1 wE o« & Ferk wnasen 2 9% aae
i Iﬁi'xﬁﬁﬂﬁiﬂﬂﬂ?g'?

tay  248()
by 2481
el 2482
idl 2483

$ﬂ3-1+%-%+_ﬁm#wwaﬁmﬁﬂmn
’s 7 7

14l H—“
g
f
thy =
20
o 2
4
i
{el) -~
5




1.  What is the value of log, log TWTVT equal
to 7
ta) Blog,7
by 1-3log,7
e 1—-3)log. 2
W L
8
2. If an infinite GF has the fArst term x and the
gum &, then which one of the following is
orrect 7
(] x==10
by —-1=x<0
el D=x<10
(d) w=10
i Consider the following expressions :
1. T l
x
&, Jax1+h:+x—c+ﬂa-iﬂ
x x
3. Ax*-5x+ab
z
4. T
x? —ax + b7
g o2
x+5
Which of the dbove aré rational expressions 7
(a} 1,4 and 5 only
{b) 1,3, 4and 5 only
) 2, 4and bonly
(di land?2only
YPL-3-BLU

A,

5.

7.

(3—A)

A sgoare malriz A is called orthogonal if
alk A= A?

by A= .n."h_1
ey A=At
id] A=A

where A is the transpose of A.

If A, B and © are subsets of a Universal set,
then which one of the following is mot correct

fal AUBMACI=(AUB NAUC)
by AUAUBI=(B NA UA

e AWBUC=WCNE NA
idi (ANBIUE=AUCINIBUC)
where A’ iz the complement of A

Let % be the number of mtegerz lving between
2009 and 8001 which have ol least two digits
eguil, Then x is equal to

{a) 2480
iby 2481
(e} 2482
(d)l 2483
The sum of the saties 3 - 1 + % —':.“ & . i
equal to
A

4
{h) 1

24

)
Lzl —

4

F)
d x
(d) 5




et & wy g o faram Fifaw afr smt s e
71 (02) Tvat 3 Iy T
300 w1 w1 TH T=am o | 9 e o
7 125 B w1 Gree ST 9EE B, 146 BT
T Geata weE 9EE § ol o0 ol @ efw
We yHe # | s2em uH E, W oA A b @
di-dis 21 ge g TEg =

8. oA am o 9 =@ wen o s # o 12,

iwl 14
thy 21
g} 28
(dy 235

9, e o deds aEe e @9 d@eT TED
= £ 7

fa}) 185
ib) 228
{e) 254
idl 268

10, Al o3 = 0), Bom oftem 22 s ax-f =0
% A §, A GEm = - x4 oox o+ B RS

:.'.EE%,ET A

ta) ToEm om ~II%
b} Tewy A -%ﬁ
icl Elﬁﬁlﬁ'ﬁﬂﬁ—lg

@y sfeFanam L4

YPL-S-BLU (4-A)

(2 + 30" % Buz v 4 9oy g oo wy
BY

{a) &

(b) 12

(e) 108

d) 216

H 91 wr=m A % fom, frefafes O @ 9Ra
o (Ferdtwant) s A # 0
1. aAbhlaa

1
det A

2. detiA ™=

3. A =aA- TR A U i () B

= fau 2 w1 v W= wE I gh

(a) whae 13 2

(b} Heer 23y

{e) hEe 133

) 1,233
¥ 3

s (x? 597 9| & wm H
v 1oy® 27

(a} x-3
(bl =x—¥
ey  y=3
id) x-3y



Consider the information given below and
answer the fwo (02 ilems that follomw

A survey was conducted among 300 students.
It wase found that 125 studenis like to play
cricket, 145 students like to play football and
a0 students like to play tennis. 32 students
like to play exactly two games out of the three
EmesE,

8. How many students like to play all the three
gumes ?
fa) 14
(b} 21
(e 28
idi 36
9. How manv students like to play exactly only
one game ?
ia) 196
il 228
el 254
iy 268
10, If o and [ (= 0 are the roots of the quadratic
equation x* + ux — i = 0, then the guadratic
pxprossion - %x- +ox + | wherex e R has
{al  Least valus — 1
g9
ib} Leastwalus = =
{ed  Greatest value II
, )
idy Crreatest value i
YPL-S-BLU

12,

(5-A)

What is the coeffcient of the middle term in
the hinomial expansion of (2 + 324 2

lal &
tb) 12
ic} 108
idy 216

For a square matrix A, which of the following
proparties hold ?
1. (Arli=A

1
det &

2. detiAY=

3. (AT = 3A-Y where ) is a scalar

Select the correct answer using the code given
below ;

fal 1 and 2 only

ihi 2 and 3 only

e 1and 3only

idi L Z2and3

Which one of the following [actors

does the expansion of the determinant
X i ]

2 &

b3 By 9 | contain 7
x" flﬂ'_'..’u 27

fa)] x-3

(b} x-%

icd w—d

id}y =-—13y



i cosi—8)  —sini— ) o Ry |16 17 T2 FaenEl B e & 5 faend) figanh
—sini—=0)  cosi— @) " £ | 11 Taenfed & v A 0 R
TR 8 7 TR | A N A R R T g eera A o
P _sinﬂ] ia) €17, 11)
far )
S b} C(12,8)
ooad minp fey 217,85 = C 6 3)
(bi
[E:i.nl:'l' tﬂHHJ )
idy CiB, 3% C(12 8)
cozd sind?
Fd]
[-E—iﬂﬂ nuaHJ
17.  log, 27 + log, 32 1 919 =41 # 2
‘eost —gind
(di [ ]
=inf eos (53 T
¥ o3
19
By ==
b %
‘_‘Ir—- in . dn fe) 4
i, {ﬂ] +{ﬂ] Saard
2 2 iy 7
wal i=J-1 %7
{a} 3 18, Iz A 3R B 3 v #ifE & sgeeaiy ol
g §, ot (AR foemd wman & o
(thy 2
{aj BTal
c) 1 (b} AR
id) 0 &) BRIA
id) A'B

YPL-5-BLU (E=A)




14,

15.

What iz the adjoint of tha matrix

{0 opos(—8y  —=sinl- @)1 .

|, — gini— @) os= 0, -

cosfl —ainb|

1
iz |

—ginf s b

‘cosll  sind
i)

| sinf cosl

cosd  -snd
(el

—sinfh cosf

I(pr_rﬂﬂ —ginf
id)

| gin cins

What ia the valoe of
n 1
-1+i1."ir 1 [-14«:‘5)"

2

2

where i= ..—'_lr i
fay 3
by 2
() i |

idi 0

YPL-5-BLU

1.

17.

18,

(7-A)

Thore are 17 cricket plavers, out of which
B players can bowl. In how many ways can a
team of 11 players be selected so as Lo include
3 bowlers ?

faj CO7.11)
by C{12,8)
e) C17. 5 =Cib, 3}

d) C(h 3=C12,8)

What is the value of Iog, 27 + log, 32 7

T
ta) 2

19
1B s
' 6
ey 4
W) ¥

If A and B are two invertible square malrices
of same order, then what is (AB) ™ equal to 7

@  Blat
(by A'B!
ey BI1A
dy AR




19. IfEa

{41 ]

id)

20, xﬁrmﬁﬁmﬁmmﬁqﬁaw[ :

+b+u=ﬂ%.ﬁ:‘l

o {3 (a2 +b% + %)
a2

= Jz a2+ b2 +c%)
3

%=}

=1 T AR T E 7

(@)
(b
(el

Ld}

15

—16

-8

21, wfte P
Zx ey =Rz =5,
Hz—ﬂy+2:=53ﬂ1
fx—-dy-z=16

&l
b
{13
1)

¥YPL-S-BLU

IETT B
T R, v wigdE ' S Wy

w1 7 fifanarsm § 58 5 wraoEmy

LEoil.

(B-A)

i () F T & gey § feafafae
HETHA B 7

(a} F H0E B E
(b) ¥ 3 Fi T O 9 W A E

() U WHATE w8
(d) FTHE H H HE T

T u, v 3R w (B o) v it Ao
(GP) & pd, qf st & w B @1 w=E
Inu p 13

Inv g 1| %" g 2

Inwe r 1
(ay O
bl 1

fgl (p—qgilg=rlir=p

id) Imu=xinv=zinw

o #HiFaw (1 + x20 3% e o f gon = W
M o # 3 (14 0 -1 % fiug v § 9
Teg e % it p et o3 | Fefafes e b
| w HEy w2 7

(a) a=p+y

thl o<p+y

o) a=P+y

idy =y



19, If a4+ b+e=0, then one of the solutions of
8—xX e b
(e bh-x a |=0 is
b f c—X
ial =x=a

_— J-El-m2 £ 4et)
A

(bl
JE (a® +b¥ %)
{n} = ————— e
3
dy =x=0

an,  ‘What should be the value of x =20 that the

2 W

matrix ]duﬂnut have an inverse 7

- B x
) 18
(bl =18
icl B
fdy -8

21. ‘The system of equations

Zx+y-3dz=5,
x-Sy +9 =5 and
b -y —2 =16

la) i inconsistent
(b isconsistent, with a unique solution

{¢) i3 consistent, with infinitely many
salutions

fdy has ite solution lying along x-axis in
three-dimensional space

¥PL-S-BLU (8=A}

Which one of the following is corpect in respect
of the cube roota of unity 7

{a) They are collinear
(b}  They lie on a circle of radius +3

ic} They form an equilateral triangle

(d) None ofthe abowva

1f u, v and w {all positive) are the p', ¢'* and

B terms of a GP, then the determinant of the
inu P 1

matrix | fa v q 1|1

I w r 1

(zh 0O
bl 1
el (p=qilg—riir—pl

(d)  Inuwxinwveinw

Let the coefficient of the middle term of the
hinomial expansion of {1 + %°® be « and those
of two middle terms of the binomial expansion
of (1 + x0¥" -1 'he B and y. Which one of the
following relations is correct T

{al =P+

(b} s<P+y

(e} oc=p+y

(d}) a=py




25, AR A A= (xR -12x<1),

26,

27.

YPL-S-BLU

B = [JrEH.:—IiyEl]‘B i S, AxB %
IEg=E B, W S=lxyie AxBoxfayi=1)
B gl B |

frrafefam § O s v adi & 0
(@) 8 A® B H UH UFH So R
(b} S AH BE UF T5.0% S #

el S A® B TH R smeEE wfataam
#

(di 8% e TR

o ofifw 6 r= 1,2 3, .. % fm T, fad
wiAT Aofi (AP) 1 T U R | iR fadf @ fim
TS QUH m A9 on F fw oEmR um
T,=1n3M T =1/m® @1 s s
7

ta) (mnort
ihi mlen?
{ci 1

fdy 0

o wifae 7% fx) 39 TR = o Ruw s

-} T ag ot el « o wwenm R

e gix) = M) + £ix) + ) &, 77 Fedt o
yreafas x5 fa

{a) gixl<d

by pixi=0
el gixl=»0

d)y  gixi=0

28, TEUNE 2 F AEEE A, B C % ey

a0,

(10=-A)

1, (A+B+CY=A"+H +(
2, (AB)=AB

3. (ABCY =C'B'A'

T A, HE AT OREA R |

wfmHaFERI A g
(n} HEE 130012

(b  FEe 2aia

(c) Hae 13 a

iy 1,233

Eamaft mena (1011, (10110110, 3
(10011x0y), 1 Gred, fGamad  H@em
(101101101}, 8 | <3 yH o wm & 7

a x=1ly=1
b} x=1,v=10
el x=0,y=1
idl x=0,y=0

o #fifaw fF e B, vs 1 wmegE A W
HEEEH =R R, A% @ 3 sl W ouw
AHEE AR [ # | ARk (20), AEE A F
HRfiE #, 77 AB fed s @ 0

fay i

ibl K

ey kY
) (kN




25,

26,

27.

Y¥YPL-S-BLU

let A=lxeB:—1=x=1l,

B=lyeR:-1%y=1]and Sbe the
subsel of A = B, defined by
S=ix,yeAxB:x*+y =1L

Which one of the following is correct ¥

ia) S is g one-one function from A into B

bl 5 is 8 many-one function from A into B

ic) 8 isahijective mapping from A into B

idl 5 ig not a function

I.atTrhuther“‘temufanhPﬁur
r=1,% 8 ... If for some distinet positive
integers m and n we have T_ = 1/n and
T, = 1/m, then what is T _ equal to ?

(a) (mnjt
() mwleo?
(e} 1

(d) 0

Suppose fix} iz such .a quadratic expression
that it is positive for all real x.

If glx) = fix) + Fix) + £x), then for any
real x

(a} glal=0

(thy  gix}=0

el gixi=0

(d) pixlz0

28,

H{LR

{11=A)

Consider the following in respect of matrices
A, B and C of same order :

1. (A+B+CY=A'+B+C

2. (AB) =A'BR

3. (ABCY =C'BA

where A’ is the transpose of the matrix A,
Which of the above are correct 7

fa} 1and 2only
(hl 2 and 3 only
(¢} 1 and 3 only
dd 1L, 2and3

The sum of the binary noambers (110115,
{11:!11I}11IZ}IJ3 and Elmlhﬂ}rlﬂ ig the binary
number {101101101),. What are the values of

xandy?

ial x=1lLy=1
(b =x=1,y=0D
cy x=0,y=1
id) x=0,y=0

Let matrix B be the adjoint of a square matrix
A, [ be the identity matrix of same order as A.
If k (=0} is the determinnnt of the matrix A,
then what is AB equal to ?

la)

bl Kl

(e) k¥
(d) (1



81 A (027 =2 3R log,, 2 = 0:3010 B, A1 x *
g1 Fream zvm o T o

(@l =100
(b} —05
o) —04d
iy 02

82. 0F 97% & i 3t F g 5 o T f 7w
el wemd =9 v s=f & ¢
fal 45360
(hi 30240
(e} 27216
(d) 15120
(%= ¥ ¥F+B
33, WSR2 x  z4x| o GV BHER 7
_'!|" z x+:.r

a) (=3 (y—zi{z=2)

(b} (x—yliy—=)
(e (y—zliz—m
i} tz-x*ix+y+z

¥YPL-5-BLU

(12—

34. TR A, B3N CvE gm % ww ¥ ain

| 1 1 1

1+EindA 1+=n B 1 +sinl} =0

sinA+sin?A pinB+sin® B E.-m{','rshgﬂi

B, @1 Fafafaa § & $9m v of B 0

(a) Tauw ABC mnfeas 8

by  Fga ABC Toem #

ey B aBc T 2

() Foga & usft F e o W Feed ol
e = wwm

85. UFANW HIe F AEYE A R B % waEw i
Frefefan o foan $ifim .
L. A*-B*=(A+Bi(A-B)
2. A-DI+A)=0=a%=]
FE AT SR SR O s |
I § FAad e B o
{a) Fad 1
(by a2
(e)  13R 2 2
dy FAM1LTIE2
36, %Egaﬁmﬂsmt?
(2] cos20
(b}  tan 26
(¢) =min 20
(d)  cosec 26
Al



31. If (02F =2 and log,, 2 = 0-3010, then what 34  1fA Band Care the angles of a triangle and

ia the value of x to the nearest tenth 7 1 1 1
1+sin A 1+sinB 1spiniC =1,
ta) ~=10:0 sind+gin’A sinB+ain®B  snC+uin®*C
: s "
b} —0B then which one of the following is correct 7

{al The triangle ABC is izoaceles

el =04 (b} The triangle ABC is equilateral

iy -02 ie) The triangle ABC is scalene

{d} Mo conclusion can be drawn with regard
to the nature of the triangle

92, The total number of 5-digit numbers that can

be composed of distinet digits from 0 to 9 i 86. Consider the following in respect of matrices A

pnd B of same order :

la) 45360
1. AZ_PB*={A+B)A-B}
{h) 30240
8 (A-DI+AI=0eA =1
e} 27216
where T ia the identity matrix and O is the
{(d) 15120 nuill matrix.

Which of the above isfare correct 7

‘ : {a) 1only
89, What is the determinant of the matrix
‘2 ¥ ¥4z (b} 2 only
% s-l-r.J 7 icy PBothland2
ll!r’ L. E+Y {d} Neither 1 nor2
(gl f(x—=yliyv=mliz= g
ol ki e 38, Whﬂ.tiﬁ—gmf equal to 7
1+tan®d
by (x—yliy—g)
¥ {n} coa24d
e (y—x)(2—x} (by tan 20
(d) E-0%lx+y+a)
(d) cozec 28

YPL-S-BLU (13-4}




37. AR sec (0 - ), sec 0 N se0 (0 + o), "EET it | 40,
[ﬁpfﬁi.EﬂMUHlﬂ,?ﬁaﬁEH+mﬂﬂﬂﬂ

o & 7
@) 0
b 1
& =1
1
1 R—
2
41.
38. 3R A+B+C=180" B, W
gin 2A - sin 2B - gin 20 TO% g0 2 7
(a) —4 sin A sin B sin
(b) -4dcosAsinBeosC
ic) —d4eos Acos BginC
(d) —4sinAcosBoosC
39 wm%ﬁg&%ﬁﬁﬁﬁ%ﬁm{m}ﬂ

F R | TR A 99 F gEt Bl w weene
w0 45¢ B | 3R 0W F Iw @ R 6 S
122 m &, & U9 & o = o

(1) 122 %in48°m
ihy 122 tan 4™ m

¢) 129 pcos 487 m

(d) 122 tan 48°m

¥PL-S-BLU (14-A)

wY wquls d ok wm AR | W T
AU 3 (3 - tan® A - cot 4% = 1 F Gy
=M e e da asomant e

fah 3007
by 315"
(el 330
(dy Bd4B7

h =1 # v% gova & o sihomm @ S w

ﬁﬁﬂ#?ﬁﬁ%maﬂmm:gsﬁrg
P Fadam gy
{fal 2h
3h
(b —E—
{ed h
h
(d —
' F

faptorfirelts Ffr cosec x + cot x = V3 FE
Eﬁwaﬂf.ﬁﬂ{xiﬂna?'

ta) haw 28
3

by e T
3

[eh ﬂﬁﬁu
b

2 g
il



37.

38.

1t

YPRL-5-BLU

If spe (B — o), 2ec @ and sec (B + a) are in AP,
where cos o = 1, then what is the value of

gind 0+ cosa 7

fmd O
ik} 1
2 =1
1
d s,
Ll 7

If A+B+ C=180°, then what is
gin 2A — gin 28 —sin 2C equal to ?

{p) —4sinAginBanC
bl —+d4cosAsinBoosC
g} —dcosAcos BainC

] —donAcsBeosC

A halloon is divectly above one end of a bridge.
The angle of depression of the other end of the
bridge from the balloon is 48°. If the height of
the ballpon above the bridge iz 122 m, then
what ig the length of the bridge ?

fm) 12250 48" m
by 122 tan 42° m
{t] 122 posd8°m

id) 122 tan 48° m

(15-A)

40. A is an angle in the fourth quadrant. It

aatigfies the triponometric
3(3 - tan® A - cot AP = 1. Which one of the

equation

following iz a value of A 7

tml 3007
by  3156°
ey 3307
idy  B45*

The top of a hill chserved from the top and
bottom of a building of height h is at angles of
elevation E i % respectively, What is the

height of the hill ?
{a] 2h
3h
) R
J 2
{ei h
w2
2
What isfare the solutionia) of the

trigenometric equation  cosec x + cot x = J3,

wherg D<x<2n7

Br
[ e ]
al = nly

)
{ g only
fe¥ monly
[ 4
b4
d) =, g. %
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43. ﬂﬁﬂe%%+fﬂ

2 cos 0 + 1) (2 cos 20 — 1)1 (2 goa - 1710

(2 posda— 10
A F R 7
fm) 0
(b
Lek
el

-

8 cos o M cos PO < @ < < n), Fowm
Hm-i-xz—:i:ﬂ%tﬁﬁ,*mﬂﬁaecﬂ
Cal i o

fal -;i
4
4
my =
&
eh E
4
id) =8
&
x Frefisfas o & e il -
1 B
2. - i
g 1
&
1
d =
4

x & IF wEl 4 8@ weama miem
tan~1 (2%} + tan~? (3x) = f-ﬂ';rﬁ:.ﬁ-:-'f 2 7

(a)  E 3
(b) e 23 g
fe)  HEE 1y
d)  FaEeTa

46. R w390 GP) S gEn 93 2 § o

47.

{16-A)

THh I 9w AR 8 B, W oqvieR Avi

(GPI 7

1 1
) B =,
“ '8

* 2
[b] lﬂrzl_l_il

g 26
ich 4.2.1.1.L.

a' ol

4 ‘3
fd) 63 =, =,

2 4

& a, b, ¢ TR A0fi a1 it deft @ EmerE
&nﬁﬂﬁ,fﬁ:—:s‘lﬁmﬁam%?

(@) 2 s g sver D

(11 c

b} £ sy & awET
a b

te) 139912 gy A

b c

(d) 135 R sy &

b a

A1 sl & T B} gema = drwer v R
o wdt T R 8, 4 0 58 T W wEd E
WE A & g e a7 o

fa} 2864
fb) 3882
el 4044
(d} 4444




43. If B= ; then what is the value of
(4 cos B + 1710 (2 cos 26 — 1119 (2 coa 8 — 10
(2cos 40 —1)10 7
{a) D
by 1
fey 2
(dr 4
44, Ifcos o and cos f (0 < o < B < 7} are the roots
of the guadratic equation 4x? - 3 = 0, then
what is the value of 2ec a « sec fi 7
)
fa) — 3
4
h =
o) 3
3
) i
@ -2
4
48, Consider the following values of x
1. L]
B — 4
1
9 1]
gy =2
4
Which of the above values of x igfare the
solutionis) of the equation
tan-t (2x) + tan~! (3x) = E ?
{a) 3only
ib) 2 and 3 only
el 1anddonly
(dl 4 only
YPL-S-BLW

446.

47.

(17T —4A)

If the second term of a GP is 2 and the sum of
its infinite terms is 8, then the GPis

ia) B,E,%,%..
(b} 10,2, %. :‘E,
e 4.2.1,;.%.
(d) E.E.%, %1.

a—-h

If a, b, c are in AP or GP or HF, then = is
equal ta
(a) E1:11.".[.|:h1'E
& i
i ]
-, =
b ED'!'B'EII.']

i a
lor —or —
c

ok b

E: ] [
1 or = o1 —

idd b

What is the sum of all three-digit numbers
that can be formed using all the digits 3, 4 and
5, when repetition of digits is not allowed ?

ia} 2664
iby 3882
(el 4044
(dl 4444



49, Flﬂﬂ?(fﬁa_tﬂ+h;+u=ﬂ3ﬂ1px;+qx+r=ﬂ 52
* gEl = e = # | #f% D, s D,

e, 5 T 5 ffee & @ % o—

2

aET # 0
2
in) H—E
P
2
(b ""—;,
i
2
L
{e) —_—
1_2
O R e R

54.
50. A A = sin? 6+ cost 52, W ot T=RE o

fom Frafefigs 4 8 shm vs gft 2 0
fa) 1<A<?
g
) S <hci
¢ o
13
g ==
e lﬁ_ﬂﬂl
idd -E—EJ’L e
4 16

1. Hﬁ%ﬁm%m fﬁiﬁ}ﬁ%ﬂxj,g.r]}
mfxi,yﬂiﬁ,ﬁfﬁﬂiﬂﬂ'ﬁ'ﬂtﬂmi

(al Ix—.'-lle—xt_.}-:-ty—:.rlHy—}'EJ=:1:2+_1.'£
b} 'I'.H—.?Lllz+fj.-'—jr.i]ﬂu}[£y2
o xl'!-ry2+2?|;lx2+ 2y, ¥a=0

) (x—mjlix—xy) ¢ ly=y Hy -y} =0

YPL-S-BLU (18-A)

fomma et o2+ dy? - x4y 42 =0, T
et wom & 2

@ uE g

(b 32 w8 1 30 o Siaa
() ?iﬁﬁﬁﬂmﬁﬁﬁﬁ
) 3w F F wE A

a2t T lx+my+n=0 3N
I’x+m'}r+n'=ﬂﬁ?ﬂﬁﬁﬁﬂt&u"lﬂ ﬁ?ﬂ
TR o e e Ry

{a)

Im'—I'm
' —mm’

im' + I'u:!__
i mm'

(b} [

(&) m'— 'm |

“H'+mm'

(d}

im'+I'm
i — mm'



49.

The ratio of wvools of the oquations

ax? + bx + ¢ = 0 and px® + gx + r =0 are equal,
If Dy and D, are respective discriminants,

then what is %‘- equal to ?
-

3

1@l a._a
P

a

& 2
0

B
(

(] =5

{1 Mone of the above

50. If A= sin®6 + cos’ 8, then for all real 8,
which one of the following is correct ?
fal 1=As2
(bl E zA=z1
4
13
i — A 2]
%' IR
H 13
di —=sAs—
¢ 4 — 16
51. The equation of a circle whose end points of a
dinmntarure!ul,:.rim.ud (Xg, Yol i5
ia) [K—Hl}{l—l'-!]‘*I}'-}’]}H’—J’E]IHE-P}'E
b} (x -—:1‘!2 + :}r—}rllt =Xg¥a
(e} =2+ 9%+ Bxx, + 2y ¥, =0
(d) (x—x)x—x) +ly—y)ly-yg!=0
¥PL-5-BLU

(19-A)

The sceond degree equation
24 dy? —2x—dy+2=0 represents

in} A point

{b) An ellipse of semi-major axis 1

te)  An ellipse with eceentricity —— "Ird

{d)  None of the abowe

The angle between the iwo lines

Ix+my+n=0 and Ix+m'y+n'=0
givin by tan™! 0. What is 0 equal to ?

im' = I'm
ah —_—
il — mm'
Im’ <+ I'm
thi I s’
(e ‘r'"]'_'tml
{4 mm'

) +I::n
H’




54. TrafaiEa wedl o Gram fifaw B6. FHAR 8x - Gy + 22+ 11 = 0F &= (2,3, 4)

1. iﬂ?ﬂﬁy=m+cl'aﬂ13=m+¢3ﬁ€ q“ﬂ i
fe o |'u'1-'=-.;| ¥\ () 1 g (wEw)
im by 2 3R ()
o bﬁﬁﬁ nx 4+ by +¢. =0 3 =
Hx+hy+c2=ﬂaii]ﬂiﬂ'§h ® FyEE
|E|—E2| E| {dl 4@{%]
a* + b#
L 1 w:::tlafﬂx:ﬂgaiﬂﬂﬂ'{ﬁ
fey—e,] 21 57. =53 0, P, Q 3 R % Fawrs sy (0, 0, 0),
' ' {4, 6, 2m), (2, 0, 2n) 37 (2, 4, 6) 8 | wF Hifaw
a9 FE 0 B wAA R g & L M, N 3R K sa q@sl oR, OP, PQ
i Qr W W 9ER & fg # & LMNK v
ta) HEE 1 3R 2 woT Gqya ¥ el 21 wem el LK o
n & T w9 ) E 7
(e} a1 33 .
fa) 6,2
(d) 1,233
by 1.3
e) 8,1

55, 3W W @ W wdEm w2 oS et

i i) T A |
% ¥ x ,
= -:-]- =13k E -I-% =1% thﬁaa ﬁ;ﬁ

2

B B e R T ax sy -6 - 0%

L B - m“?g’f:‘;aﬁm‘rﬁﬁﬁﬁﬁ?ﬁ
3

(@) 20x + 26y — 54 = 0
(h) 25x+20y-54=0 W ERFCRRRArSaE=a
th) x+2y-2x=-1, dx+dy-52—3=0

] dx+8y—584=0
@) Bx+2y-32=0, Ix-Gy+32=-2

() dx+5y-45=0 () 3x+2y-Sz=-2, Gx—6y+Iz=0

YPL-S-BLU (20-A)




4. Consider the following statements :
1. The distance between the lines
ey - eg
¥=mx 4 ¢, ind y = mx + ¢, i /.
1 g g
2 The distance between the lines
ux+b3r+:|=ﬂaudm+hry+:2=[}iﬁ
ey — eg|
a? +p?
3. The distance between the lines x = ¢
and x =g is | £y -y ).
Which of the above gtatements are correct 7
{al 1andZonly
tb) 2and 3 only
e 1and3only
dy 1.2and3
566. What is the equation of straight line passing
through the point of intersection of the lines
X ¥ X ¥
— 4+ = — + = =1, lel o
= 3I1M53+2 and paral
the line 4x + By —G=07
(a} 20x+25y-54=0
by 25x+ 20y -od4 =10
(€) dx+5y-54=0
() dx+bv—45=0
YPL-S-BLU

(21-A)

What is the distanee of the point (2, 3, 4) [Tom
the plane 35 —6v + 2z + 11 =07

ta) 1 unit

i) 2 units
fc) 3 units
id] 4 units

Coordinates of the points 0, P, § and R are
respectively (0, 0, 0), (4, 8, 2Zm), (2, 0, 2n) and
{2, 4, 8% Let L, M, N and K be points on the
sides O, OF, PQ and QR respoctively such
that LMNK iz p parallelogram whose two
adjacent sides LK and LM are each of length
J2, What are the values of m and n

respectively 7

fa) &2
bl 1,3
ek 4.1
{d} None of the above

Theli:ne!—;1 - o S

3

15 given by

g} x+y+2ml X4dy—Jz=—4

by x+2y—-2z=-1 dx+dy—62—3=0
(¢ 38x+% —3z=0, 3x-6y+3z=-2
d) Ix+2y—-Jz=—2, Ax-6y+JFz=10



YPL-5-BLU

59. Frafafas waei w fraw Hifm .
1, Aol 2x-y+z=13M x ey +22=3
%ﬂﬁiﬂﬂﬁﬂl%%l
2, THAGEl 6x -y + 62 + 2= 0 3w
ﬂx-y+2;+4=n?ﬁﬁ'aq‘irqﬁ%il
3T e A a2
{a) a1
ihy o 2
) 130 2@E
d) AAr1ade
w57 - A fagatt Pom, n) 3 Qo 8 F
s e e gEfes w
wM o HAm wW B, A
Cchs = ey 4l
._,rim-ﬂqngll:rﬂ+52] .
Fur Il et ot Bogm aBC H, mmowd &2 &
af=b% + ¢* - Fhovos A.
Igw = FEEl & gew §, Frafataa § 2
R U AR 7
(a) BETHE 19 1 58 § 3% 599 11, 599
1 &1 5 FrLiaam B
(b) EF FEA 1 9 1 @l #, g wE
e | AR S a2
(¢} = 1 WAl 2, R wem 11 e @
W) w17 R s o od @

B1.

(22-A)

¥4 Fgw &1 drreer war T i
) () (o)

(@) | lmy —xgh g — g} (mg~ 2} |
by 0

My —xoblxg —xgling — 3y )
XiXexy

el

ix = Kg_:l[ﬂl_g = Kﬁa —I]-_]
2111233_

i)

ﬂﬁ}'-w,qﬂnﬂ+}rﬂ+gﬁ+ry¢ E =0

w1 =W 2, 4w R w wfieE, g9 9 e
frg mammay

& ¥

i ( 2’ 2)

f

h) [—E,—E}
_E

el [ 2.1']

id} f{-g —F)

oA e B O F ) =0, 1B 20 R
(@ + BIAT + B)=|a]2+ |B|F =
g 2, af2 sl S oz

(&l Eﬁ‘.’gmf

(b} & W b "EE

i¢) @ @ b,45°% Fm 9w 3 B

i) a2 b wfimae E




¥PL-5-BLU

9. Consider the following statements :
1. The angle batween the planes
x—ye+zalandx+y+2x=3is %
2. The distance botween the planes
fix—dy +fz+2=0 and
-y + 2z + 4=0is E’
g
Which of the -above statements 1afare
eorrect !
ia) 1only
iby 2 omly
{¢) PBothland2
(d} Meither 1 nor2

Conzgider the following statements
Statement 1: If the line segment joining the

points Pim, n) and Q(r, 8

subtends an angle a at

the origin, then
msE = nr

€08 oL =

Jm?® + 0%+ 82

Staterneni 11 : In any triangle ABC, it is troe

that a? = b* + ¢ — Zhe cos A,
Which one of the following is eorrect in respect
of the above two statements ?

ia} Both Statement | and Statement II are
true and Statement Il is the correct

explanation of Statement 1

bl  Both Statement 1 and Statement 1T are
true, but Statement IT is not the correct

explanation of Statement I

icd  Statement 1 iz true, but Statement 1 is

falze

idr  Statement | is false, but Statement 11 is

Erue

&l.

(23-A)

What 12 the area of the triangle with vertices

1 1 1
(o) (o) o)

inl |i£l =Ryl Ixg — x5) (xy— x|

(b} 0

(e} Eq —IEHIE—IRHKQ_—}“]
Xyxgxa

td) [11 _xEHIE_%Ej[H'-I_EIj
Zxxaiy

If v-axis touches the cirele

X ry g+ iy + % = 0, then the normal at
this point intersects the eircle at the point

f
(b} k-g,—%]
_E
(e [ :!'f]
id)y |-g.—f)

Let @ | =0, B | =0
(Be BT+ Bo= | (2 | B2

hiolds if and only if

ta) & and ¥ are perpendicalar

(b & and B are parallel

(¢ 7and B areinelined at an angle of 45°
(d) 7 and B are anti-parallel



64, AR ¢ =xi +y] +xk B A 67.
Foli 4] + k) s amm iy
() x
(b} =x+¥
e} —fx+y+e
) ixEy+a)
5. TfEwt 20 — § + k ofwal —4f - &k, vom
W FE, UF O giey (gfe g @
F oW 1 E
Laj —_— | T m— P bl
B CB'ThR 68,
SR TG O CR
ihy — = g
..-EI+2J+2
L:op. ¥ & % A
el R k
B BT h
18 1 &
(d) A
BT S
848,
66, WL |2 =8, |D|=43M |T-5|=5%
A |a+ b | FEATFNRT
(a) B
ib) &
&) &2
d) B
YPL-S-BLL (24 -4

o9 ®wifew &, b a3 ¥ @ wew ww
i, UEE W owifawe TR R | ok

—§ b = —h —h =

A=a+bht+te,Beg—-1b+ ¢ 3

B=3-1-¢ 8 @ teoafefam 8 &

O W R

@ |A|>|B |50

by |A |=|B|=|C |

@ (R =B |=C1

@ A |#|B|#|C|

(8 — hixia + b Tores wwem & 2

(a) 0

B m

(1] Et?:{ﬂﬂ

o |2 [P= 1 2

T +2] + 3k w ofim v siafeas w o
Wz 1 9159 B ik @9 ifta & 1 safes
% Frgul =1 i 2

fa) &
(b} JEA
€} BA
(d) I A & = T



— -~ i i
84 I r = =xT + yvj + zk, then what is
-* i .I'Ii sl
r oW1+ 1 + kiequal to?
(a) x
(b} x+yw
lgd  —lx sy ezl
fd) +y+zl
5. A unit vector perpendicular to each of the
vmrsi?—j+ﬁmd3?-d?—-ﬂis
&) 1 & s S R f:
a T e | =
N L
1 1p
i i M R —k
b .JEI si¥g
y 1 & 1 n
(el el == ——=k
B S S
] A 1 4 1 »
idi i+ =] +—Fk
43 V3 V3
- =
66. I |a | =8 |b|=4and|a — b | =5
then what is the valusof | & + B |7
) 8
by &
e} 642
idl &
¥PL-5-BLU

(25 =-A)

i

s
Leat a,?and ¢ be three mutually

perpendicular vectors each of unit magnitude.

- e

A =2 +B #¢.B =8 —b + ¢ and
= B =
C:a—l:T-?.t-henwhithnneuftha

following is-correct 7

@ 0
(b} ?ﬂ?
@ Sie =By

A spacecraft located at { +‘3} +3E is
m:hjemuﬂmﬂfhrcelﬁbyﬁriugamnkuLTha
spacecraft iz subjected to a moment of
magnitude

fal &
bl J3A
ey «BA

i Mone of the above



70. ww By ABc o, ofg wm A faw ww, @780 Hee

Ffefas wedl v BEew S . a—
— ] — 3 - ﬂﬁh‘.lﬂ
L AB+BC+CA=D flx) = ag wt fomm ifam
bl 2
—_— Ll * 2
3. AB+BC-CA =10 F TRx=0
_:‘. .-r -’ - LT .
3 AB-BO+CA=1 e & day |, Frafafes § @ #99 oF od
— - — iy t'!’

P
-

4 BA-BC+0A =
(a) FB x=0 S 781 3

T wedl A A fred ol # o

A (b} 9% UeEE x W HOA R
| (¢} IR x=nT Hog T8 &
ey A {d) T8 x=09 Had #
(d) =W

T4, T fix) = |x — 3| & o, T=fafam 4 &

71. T #ifan B 9% v = cos (sin x) T TEET HIF-HT U TE 5 R 7

tan 67 | T8 HAH (0, o F a1 0= B ;
(af oM x=-3 T Had 78 &

"
LeLl -
P (h) %6 x =3 T Ha9 &
{bi 3_“
1 £} O x =0T ASHEE &
mn
eh =
“ 3 (d) $FA x=—3 W HTHeHE B
x
;|
2
2% —sin'x )
5. 9F BEH flx) = <X=50 X o oEtR A
9% +tan L x
=1 E 5
72, aﬁﬂxhﬂ_'i_,nq.ﬁmﬁm T fag moum B A aow AE oA B e
H_
m?f?ﬁ'm%ﬂi? ial _%
{al == d) L4, e 1
b =
iby |4, =} d
() (1, 4 (4, =) (el %
(dr [1,4) (4, =)
dy 2

YPL-S-BLU (26-A)




70. In & triangle ABC, if taken in order, cinsider
the following statements :
— =
1. AB+BC+CA=0
-3 =l = g
2 AR +BC =-CA =10
- =¥ —+ =
3. AB — BC + CA =0
—¥ — o —
4. BA-BC+CA=0
How many of the above statements are
correct ¥
(a} Ome
(b} Two
ey Three
id} Four
71. Let the slope of the curve y = cos™ (sin x) be
tan @, Then the value of 8 in the mterval (0, x)
i8
W
1a) a
an
H ool
b} :
n
ich I
7, S
2
79, iffiz)= Y5=1 defines a funetion on B, then
x —
what is its domain ?
(gl (—oo, 4) {4, =)
b [d, e
fey (1,410 (4;=2)
(dy  [1.d¥0U {4, ea)
YPL-S-BLU

T4

T4,

(27 -A)

if xell
fixh=
EEE if =0

Which one of the following is correct in respect
of the funetion ?

{a) Itisnot continuous atx=0
(by It iscontinuous at every x
{ex It is not continuous at x =

idd

It 15 continuoig at x=0

For the funetion fix) = |x - 3|, which one of
the following is mod correct ¥

(g} The function is not continaous at % = = 3

b} The function is continuous at x = 3

(e} The function is differentiable at x =0

{dl The function is differentiable at x =—- 3
|

It heton fy) = Ao AN X

x +tan b x

epntinuous at each point in its domain, then
what 15 the value of 10} ?

1
o T
[ 3

1
b =

3

2
B =
= g
d 2



- ) ) =
76. 4R fx) = J25-xF B, A hm I i1

e a2 7
{a) - !
J24
0y sk
« ad
1
1e] s I
443
1
{d]l -
443
i
7. Ilﬁy‘_—ba.u'lt
aE B 7
1
(@) -
Bx
By 1
(e =1
7 P
2%

78. BoHA fix) = xsin x + cos x + % cos? x & HEg

#, fFeierfaa

() UE, HTE

ih)  TE, AT

(el m, SaE
id) 4B, HAH

YPL-5-BLU

H HIAH U e o
[u.g]ﬂmiuna

[ﬂ.%]ﬁﬂﬂ'{ﬂ?ﬂ%
[u.%)ﬁm%

513 e

=1 x-1 78,
= ] Bi.
5 .'-'.-Hll]u";] = !i_t“'-’ T
2+ 5 tanyx dx

Bl.

(28-A)

T LG Ly - S—

B s i} ]
(a) 2
b 242
1
fel _
N5
1
d)y —-——
242

U S AR S0 fix) = x?—dx + 5
wm gfoaifm #, W@l A =01, 4 % | Hem
oftm (=) Fm @ o

a} (2,8
by (1,6}
(ck [1, 51
(d) [1,B]

b b

- x] dx Tireds aEm &, =@l )

oo

R’

wwﬂm;ﬂﬂt?

fal h-a
i) a-b
ey 0

(d) 2{b-a)




T8, If fix) = \IE{: = then what is
------—H::I — ) equoal to ?
1 #—=1
1
L -
J24
1
{h)
J?A
Gk
43
¥
) —
41‘5
1 [B—2tanx ] dy
7. Fwy=4¢ . then what is —
SR [2 + Btan Vx dx
equal to 7
1
Ceuh -
i 5T
thy 1
{c] —1
1
idy
Eix
78. Which one of the following is correct in
respect,of the funetion
fix) = x sin % + COE X + % r:mtx?
fal It is increasing in the interval [U, %]
iby It remains constant in the interval
[ B }
0, =
-
{¢) It is decreasing in the interval (n, %)
id} It is decreasing in the intecval (ET—;J
YPL-S-BLL

79.

Bl

BEl.

(29-A)

J—voab
What is Hlu—-‘j'iequalt.u?

=0

) 2

(B} 242
1

{

ch jlz.
1

oy e
242

A function £: A — R ig defined by the equation
fix) = %" — dx + 5 where A = (1, 4), What is the

range of the function 7
(a) (&, &)
(b) (1, 5)
(e} [1,8)
dy 1,5l
s b

Wl:l.atiaJ-

n

where |] is the greatest integer function ?

[I]dll'.-i—J- [-xzldx equal to,
3

ia} b-a
th) &-b
c) 0O

dy 2(b-—a)




82. J-Ix—ﬁ[dx e = @ 7 5. I[%[m~l%]}dxﬁmaama?
a =1 i
gy & fal 0
fthy & m

(hi i L
4
(el 4
n
ic) —=re
id) 9 3
E
(el -
bd

83. jain*‘xmxdx e wwrE § 7

g6, Fofafien el 8 @ femd, wem
fix)=x*-Fx +GRIHARA & 7

) r:na-qr+|:

i} sin‘x+c
(a) l—w=, 2]
g —sindxf
S (h) 18, =)
i1 - cos® x)° @ u
id i
4 d) €23

BY, 9@ el vo= p eosiax) + g sin (ax), FeEl Pog
=3 W= #, W IEwE goiE

B4, J-Eimnm::-ﬂ; o W R 7 (&) ﬁ_ﬂz},=ﬂ
dx?
ia) fn|tanx | +e £
(bl d‘: —ay =10
) dx
ibl  frm | seex | +e
2
i¢) tan d”y 2
[ X+ {e) E+a_1.r—lil
I e 1 !
d°y .2
fdl — 45 y=0
dx®

FE o HAEEEA-IE R |

YPL-S-BLU (30-A)




2]
B2. What is J'|x—5|1:‘:x equl Lo 7 85. What is I{i(mn—ll]
2

= dx equal to 7

T

(e} 2 tal 0O
by 3 ]
by ——
J i

oy 4

T
8 o =5

IT

d el

(d) 5

B3. Whatis I sin” % cosx dx  equal to ?

B6. In which one of the following intervals 18 the

"
fab  cos x+e function fix}= x° - 5% + 6 decreasing 7
by sin" x+c (&) (===, 2|
ETT S iby 3, =)
‘e {1 =5in" x} -
4
{ci (= o) o)
2
(d) ”‘“'1[.3.!,_.“ 4 (28

where ¢ is the constant of integration,
87. The differential equation of the family of

curves ¥y = pooos (ax) + o gin (ax), where p, q
) are arbitrary constants, is
#4. Whatis Ie‘"‘“‘““&; pqual ta 7

2
@ LE _aty=o
i} in|tanx | +¢ tx
4
B Im | soex | +e (i dr—.ﬂ}lzﬂ
dx?
{ed tan x + ¢
d-‘:"_:r
d) % 4e W m+3§‘=ﬂ'

. : . ; 2
where ¢ is the constant of integration, i) : i 5 nit:'r =0
®
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gs. fg (-1, -0 @ A " R
By ol : 3 A
= =% _;gﬁngﬁmwamm
w3
fa) 17xy—6x-+3x°—2=0
(hy Bxy+1Ta" +2®—3=0
(e}  Bxy—2x" +17x" +3=0
id) 1Ty bxy -3 +5=0
89, I IaE @l & S 7 8, A we
y=acex+bginx +oe® +d8, T a b, e
o g eew war d
talh 1
by 2
e 3
dy 4
80, FawE fn.[—J:aJ:+|:|y F B
&7
ta) ae™+he¥=¢
ih} le +1h bY = g
el nr—.*""+|:|e_h'r=::
el l15|=""L+—Er_l:":'r:::
il
TRl o T S AR
YPL-S-BLU

91.

b2,

{32-A)

4fd u = &™ sin bx 3 v = ™ cos bx B, A

du dw
2oy vE e amar 2
u v 'a

Zax

{ml ae

by (o bt e™

A

ie} abg

() (a+b)e™

afz y = sin (n x) B, 7 Frfafas § 8 |0
P R

2
{a) g::%:fjtﬂ
d*}'_
b} F—ﬂ
sd¥y _dy
(el x—2+:d—l+_f;=u
diy dy
idi KEE—I{[—-F]":ﬂ

o W H w9 § o Gl 6w W
40 m TEETE % U AF W 915 @mE T & | Al
Tt w sfimen dwfm Sewer 8, @ e
e

(a) 25m
tby 20m
et 10m
dy Gm



BE. The eguation of the curve passing
through the point (=1, — 2} which satisfies
j—i g .'s.iﬂ i
) 17Xy -—6x +3x°—2=0
by Bxfy4 1+t -3=0
€ Gxy-2¢ +17x° +3=0
() 175y 4 By —8x" 4+ 5=0
89. What iz the order of the differential
equation whose solution is
y=acosx+bsinx+ee™ +d where a, b, ¢
and d are arbitrary constants 7
a) 1
(k) 2
tch 3
idi 4
80, What is the soletion of the differential
eguation Frt[j—-—i] =ax+by?
(@) me™sbhe¥ag
(bl %n“ - % P
i) aa“+he_h:"=|:
(d) Rty T .
8 b
where ¢ 15 an arbitrary constant.
YPL-S-BLU

Bl.

(33-A)

If d=2""ginbx and v =&"" cosbx, then

R i d
what is u == + v eqgual to ?

dx dx
fal & Em
(b} {a°+ b5 e™

(o) ab atit

dl ta+be™

If % =-s8in {{r x), then which one of the

following is correct ?

(a}

(b

iy = +:~|:r':-ii +ymfl
] ok

id)

A flower-bed in the form of B sector has been
fenced by a wire of 40m length. If the
flower-bed has the groatest pozsible area, thén
what is the radiug of the sector ?

fa} 25m
by  20m
(b 10m
(d] Gm



i,

1
[xix — 1)+ 113 , T8 0< x < 18, T A 79
8 7

1

o @
B 1
(¢} %

i
w 2 ]“

95. Ir&;.rslsmx{]”%,ﬁlu-gm;ﬂwm
X
TR T
"
6 !
o 2°6n2 V3z)
[
n
26 (6 n 2 +3n)
b
G
_n ]
9 B(Gn 2+ 30
{e)
H
"
i-E L
@ 256in2 Jan)
)
d,1
B, mu——-m-—'ﬁm%i“ﬂ'ﬂﬂ T‘TF:T -::t-:%
g
(Al 08 ® -+ EinX
k) —i{eoax+ gimx)
ied +icosx 4+ sinx)
I § # H=E
¥PL-S-BLLU

(24-A)

dx
97, —— — T e R o
I a” gin® x + b® cos® x

-l-u.u"[ﬂ tan x"l
b

{
al E+ah

1 _1fhtanxj

(i c-ﬁmni =

(el c+itm_1[w]
ah a

(d) IudEa # A A T

A o HETHA-HE R |

A #few & fx o+ ¥ = Bty 3R
Bx) = 1 + xgixipix) &, FEl ;jmngm.:aa:ﬂt
a

lim pixi=h® | T o) FEs s 2

{al 1+ abfix)

(b} 1+ah

ey ab

(d} abfix)

i e O L XYL g g
dy x4+y=1

fa) v—x+4fnix+vl=c
by v+xz+2lniz+yi=c
el y-x+inx+yi=c

dy y+x+2Mmix+yi=c

TEl o UF s A=




84, What is the minimum value of [xix— 1)+ l]i,
wheref=x=<17
1
ra]a
L) -
i
i 1
1
(o =
) 3
.
(d) [EJ“
8
5. If:.?=1sinnllxi.ﬂienwhntisth9vnlueuféﬂ
X
"
TE== = 7
aLx 2
_'H'
. =
) 2562 Jam
]
u
6
b 2 (6 fn 2+ J3m)
G
_R
o B(Gln2+3m)
Led
&
x
3 L
@ i@ J37)
B
d./1 —sin 2
DA, WhaHs%uqmﬂm‘whm
I T
z L
% ey
(a) Eosx+zinx
b} —{cosx+ ginx)
e} %icosx + 8inx)
id) Mone of the above
YPL-S-BLLU

97.

(35-A)

dx

What is equal to ?
_[ a® gin? x + b¥ cos® x

1 i
(el o+—tan
ah

(d) None of the above

whers o is the constant of integration,

Let flx + ) = flx}ly) and fix} = 1 + spixipix),
where Li_l.&gﬁﬂ:a and Ii;m;uﬂxhh. Then
I X

what is £{x) equal to 7

fa} 1+ abfix)
(b} 1+ab

{e} ab

(d) abflx)

What iz the solution of the differential

oode x4+w4l

t e e
euation o
(a) w=—x+dlnlz+yi=g

(h) wve+x+Zinixs+y)i=¢

€} y-—x+inix+yl=¢
d y+rx+2mix+¥i=c

where ¢is an arbitrary constant.




1m.

| .
fiim EE.m; z:+aulu—1 Mﬁw.a?
I._E Zpin"x—3dsinx+1
1
ial -
2
. 1
b o
ib) 3
e} —2
idy -4

101, af & ol HE e # oo waws T e g

k2.

5 e B, W AmEE 10 #1 owhE weE H
PIE e

1
i) =
o
&
o .
(b} n
d
¥ =]
T
2
. =
11
a0 YV F TR WY=T W gfwiod HEEe

TR 08 B | TR s wEEEm g F awen
e fararm i wimee &

{m) BO%
{hi
o) Gl%
{dl 36%
¥PL-S-BLU { 36 -

104,

1.

105.

Al

smefidl 2w A & s Wlm gy A e
=g 25 99 ® | @ A 5 w6 s
= 26 99 3 il & g9p 6 20 9 R, AW
T & s it sidl ) sl w2

{a) 20, 80
(h) 40, 60
{e) 60,40
(d) 80,20
A2 gin 0 3 cos o H FOEHS 6T sin pR#R

aln o 3 cos o H TAWE AT sin 0 F, W
Frferfiaa f & $a/a af &/# 7

N
1. V2 sin|rr.:+ EJsinﬂ=sm 2ot
L

.18 u@ﬂiﬂﬁ:t‘ﬂﬂ'rﬂ.—§]
b

Hra feu o g = w0 e g
ia) wEE ]

(b1 =HEET 2

(o) 13T 2 wE

fdy A 1LAH 2

A wifaw 6 A, B 3 C U agfeew wEwm a
galyy A gl wratag s e geand
# | 3f2 piB) = 1.5 P(A) 3T P(C) = 0-5 P(B) B,
A Pra) e B

{a) :—
® 4
ok %
(dj %




0 i L
100. What is [fim Ef"’; PR 1 equal
x4 2sin”x-3sinxz+1
to T
1
a) -
Mooy
1
)
3
i) =2
d} -3
101. If two dice are thrown and at least one of the
dice shows 5, then the probability that the
sum is 10 or more is
1
{EJ E
&
B =
¥ 11
3
{c) H
2
d .4
(d) 1
102, The correlation coefficient computed from o
set of 30 observations is 08 Then the
percentage of variation not explained by linear
regEression 1%
tal  B0%
ihl  20%
) B4%
idy 36%
YPL-S-BLU {37

103.

104,

1.

—A)

The average age of a combined proup of men
and women is 25 years, If the average age of
the group of men is 26 years and that of the

group of women 15 21  years, then the
percentage of men and women in the group is
reapectively
fa) 20, BO
by &0, GO
ey B0, 40
idl B0, 20

IT sin [ is the harmome mean of sin o and
s o, and gin 8 {5 the arithmetic mean of sin o
and cos o, then which of the following isfare
correct ?

L. 4% ai.n[cr.-r E]ﬁuﬁamm
2. wﬁﬂinﬂ=ms[::—%)

Seléect the correct answer using the code given
helow

{a) 1only

i) 2only

ick Both land?2
idl  Neither 1 nor 2

Let A, B and C be three mutually sxclusive
and  exhaustive events associaled with a
random experiment, If P(B) = 1-5 PA) and
PiC) = 056 PUB), then PUA) is egual to

{a) %
b} iﬁé
fed g
1) %



106. TF See Tl 4, 9 X, ¥, 2 bl & FA

107.

¥YPL-5-BLU

IAEA & FEI: 25%, 35% W 40% W W
Tomio wedt | Wi X, v, Z @90 2w, 4% 3
5% Sy Feel & fmin wE § ) A A g
Tgfee® w9 # uF Gre Fewen wm # o
STV TR AT B | = e # 3 A
X G 99 T 9 7

(el
(b}
e

id)

8 Torer v oy 3w o & | wudown 6 Rm
e e S o

7
o
oS

67

{h) =

37

(c)
T

259

d Lo
W 256

(38~

108.

Al

gwi & fm wqp # A 3 ofeel ek
1 FgE; 2 Asfeal i o wEe 1 WEd 3R
3 oes § | 7% TR 0 @ Tefeew BY W UE
= OF GO AW R | G M A F= A,
1 77 S 2 FESl & 24 o1 = wTiawal & 7

13

(a
& 33

(b}
il

(d)

ot v g i g wfEt= § 1097 B
wd, /1w e g 105 gfg w1 A

3. 4f ww g f wiw wRE W o =
Ty, A afem e A1 A ®

S i & F w
(a) 1,233

{b) w132

ey aw 13fa

(d) g\ 233




10,

107.

bolt factory, machines X, ¥, Z
manufacture holta that are rezpectively 25%,
5% and 40% of the factory's total output, The
machines X, ¥, & respectively produce 2%, 4%
and 6% defective bolts. A bolt is drawn at
random from the product and is found to be
defective, What is the probalality that it was
manufactured by machine X 7

In @

ial

ik

el

id}

B coins are bossed smmultaneounsly, The
probability of getting at least 6 heads 18

[al &‘%

(b) 21

e :_?3.;5
YPL-S-BLU

108. Three groups of children comtain 3 girls and

18,

(38-A}

1 boy: 2 girls and 2 boys: 1 girl and 8 boys.
One child is selected at random from each
group. The probability that the three selected
consist of 1 girl and 2 hoys ia

Lal %
(b} %
{c) %
(i 3—12

Consider the following statements

1. If 10 iz added to sach entry on a hst,
then the average increases by 10,

2. If 10 is added to each entry on a list,
then the standard deviation increases by
10

3, If éach entry on a list is doubled, then
the average doublos,

Which of the above statements are correct ?

{a) 1,2and3

b 1and2only
{¢) 1and3only
(d} Zand 3 only



114.

111.

112,

¥YPL-5-BLU

25 W0l o T 4 8 | 3fE v qem g 2 e
few = 8, @1 afomdt Saei S T wEor w=n

L
(il
(b}
(el
(d)

B & d= B

afa @ =it X o v $ 9 ﬁ}ﬂ,yi}ﬂﬁﬂi
(i=1,28 .. n R 997 T O G0ET HHM
Paﬂtqi.ﬁr%mgﬁmmt

E.
fa) =
YoQ
(b} antilog [E‘!
L)
le] mnlleg P-log Q)
iy mnilog P+log Q)

Az @ s A 3 B ¥ us ooy B 6
uifirEm p R 4w =9 (A W B W) @ A
fodt s % #F Wi g B, & FafEiem
g | HHAH TR

1. PAI+RB)=2_2p ¢

2. PANBisl-p—g

9 fam e gz w1 wEm w0 oA I 9
{a) HEE 1

(b e 2

1 9 22

) FMmiLad2

{c)

{ 40

113.

114.

115.

—A)

o2 X Wy F gweEm s - 6 R, 3 X ain
?%ﬂﬂmﬁwm-ét.fﬁﬁrmxiﬁ

HHTEAW T B
1
-
W iy
g =ik
24
1
(i) -
6
1
d =
d) -

st TEOl (xy wy) (xg ¥ah o (s ¥a) T U
= W wen @ oft am e # el oah
Tewy I TR AT U e o # o
x ¥ y % 19 HeEEy T e 69§
{a) e 03 1

wae 03 -1

ey 0,13 -1

(d) HeEw - 131

th)

A= (0, 1,2, ., 10) 0§ F quiE « 3y
wfoeara wifm =AW A | |x—y| > 5% B
=T wfaraT

[3
11

35
121
30
121
25
121

fa)

{h}

Led

fd)
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111.

11
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The varance of 25 observations 5 4. If 2 is
added {0 each observation, then the new
varinnce of the resulting observations is

(pl 2
4
f2) B
(dr &

Ifx >0,y >0{=127, .. nlare the values

of two variables X and Y with geometric

meane P and 4 respectively, then the
geometric mean of % 5

P
a) =

Q

oo R

(b} antilog iE
fer  nilog P—log Q)
(dy mnllogP +logQ)

If the probabilbity of simultaneous occurrence
of two events A and B is pand the probability
that exactly oneof A, B occurs is g, then which
of the following is'are correct ?

1. PAI+PIBi=2-2p-q
2. PBANBi=1-p-q

Select the corvect answer using the code given
below !

{al
ihi

1 only

2 only

Both 1 and 2
Meither 1 nor 2

Lol

id)

113,

114.

115.

(41=A)

I the regressiom coefficient of ¥ on X i — B,
and the correlation coefficient between X and
¥ is — % , then the regreszion coefficient of X

un Y wiould be
(@) 21—‘

) - ﬁ
el —é

id) %

The set of biveriate obhservations (%, ¥1h
X5, ¥ol; ... (X, ¥y) are such that all the values
are distinct and all the observations fall on a
straight line with non-zero slope. Then the
pussible values of the eorrelation coefficient
between x and y are

(al  0and 1 only
(b}, 0and-1only
e 0,1and-1
(dr —1land 1only

Two integers x and y are chosen with
replacement from the set (0, 1, 2, ..., 10). The
probability that |x —y | »51s

(al il

W
L) %
(e} 52;"‘1




116. W% B Fam 9 HEiga o wea A W B &

117.

gfer] # fBr ™ o g9 s farem,

Fr=terfian gfiomm 2 &

0 A | S B
witERT 1 W 500 BOD
sftea Tits Taa T 1860 | T 1750
01 & TWeA T T 81 100

sl A oft B % ool aftm % v aw R
T W ¥ W mE Wn ae F o9 =
e &

{a) ¥ 1860, 100
(b) & 1780, 100

{¢) & 1800, B1

(d) I9dEA ¥ H = T

# o Fos wel W1, 2.3, 4, 53 6%
w3, om o e R R ow aE w
et W R | O e R ox, posin o e
-1, T, TN W s s o Pl
w0 B | T WHR % gvilas ofome & odem
TR sy 28?

{a) 14
(b) 18
{ed 18
idy 20
YPL-5-BLU {42 -

118. UH aramgs o, b 4 5 v ga o

119.

e 2 0

lal HIED

() R (HifE)
{ed T HIEY

() EEES (H1E)

foehl Wi smiem AvR # (o W W A A
g}, oft x oy @ wey Tamem w1 FEloa =
& st v yew Fmem = Fefom a2, &

o e s FTrm s adt # 2
fa) y=x
th) wy=x
ey X=w
dl} x<¥

120, Fraferfas 4 @ fem o Rl 8, s v

A}

AT EEAEY g1 B 6 e ¢
(a) ufEt s afsl 6w
(by = = =g s wfgeE

iy Syl = = 3 33 T s
fomer 3% A w0 92

(el

() =l & AT R FEE R SEEn (3




116. An analysiz of monthly wages paid to the
waorkers in two firma A and B belonging to the
same industry gives the following result :

Firm A | Firm B
MNumber of workers SO0 G0
Average monthly T 1860 | 1750
wage .
Varianee of
fistribution of w Bl 0o
The average of monthly wage and variance of
distribution of wages of all the workers in the
firma A and B taken topether are
(a) F 1860, 100
fhy 1750, 100
el 1800, 81
idl  MNone of the ahove

117. Three diee having digits 1, 2, 3, 4, 5 and 6 on
their faces are marked 1, IT and 11T and rolled.
Let x, v and & represent the number on die-T,
die-I1 and die-IT1 respectively, What is the
number of possible oulcomes such that
B
(a) 14
by 16
e} 1B
(dy 20

¥PL-5-BLU

118,

115,

12,

(43-A)

Which one of the following can be obtained
from an ogive 7

fal  Mean

b Median

te)  Geometric mean
idi  Mode

In any discrete series (when all values are not
same), I x represents mean deviation about
mean and ¥ represents standard deviation,

then which one of the following is eorrect ?

o) w=x
(b)) y=x
cFy ARwy
il x<y

In which one of the following cases would vou

expect to get o negative correlation 7

ta)  The ages of hugbands and wives

bl Shoe sizge and intelipence

(e} Insurance companies’ profits and the
number of claims they have to pay

td] - Amount of rainfall and yield of erop
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SPACE FOR ROUGH WORK
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SPACE FOR ROUGH WORK
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e hTH & o0 S8
SPACE FOR ROUGH WORK
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